DU BEd Special Education Mental Retardation

Topic:- BED_SEMR_T1

1) Sahadyaad is

GG §
[Question ID = 317]

1. Mughal tradition of giving successions / STRTUBR &= DI I GRORT [Option ID = 1268]
2. A position / T Ug [Option ID = 1265]

3. A form of tax / X ®T Th =Y [Option ID = 1266]

4. The decoration of Rang Mahal / JTHgA CHRSEIEH [Option ID = 1267]

Correct Answer :-
e Mughal tradition of giving successions / 3R] DR G Bl HITA TRURT [Option ID = 1268]

2) Prairies are:

I. The temperate grasslands of North America.
II1. A region of flat, gently sloping or hilly land.
III1. Treeless near the high lying areas.

aﬁ'l!ﬁ%

I. I3} 3T &1 ftdaier urd &1 A

II. guad, i ga a1 werdt yfi o1 @ aF|
II1. &3 SAT%] & U gerfRd &=l

[Question ID = 322]

1. III only / I1I R¥% [Option ID = 1287]
2.IandIlonly /1 3R 11 Rk [Option ID = 1288]
3. I only / I Rt [Option ID = 1285]

4. 1T only / II ks [Option ID = 1286]

Correct Answer :-
« Tand II only /I 3R II R [Option ID = 1288]

3) Which of the answers would occupy the missing number?

SURRIT TBT § A P T IR R A2
50 | 18 | 32
T2 30 42
24 7 14

[Question ID = 13726]

1. 7 [Option ID = 24901]

2. 15 [Option ID = 24902]
3. 26 [Option ID = 24903]
4. 16 [Option ID = 24904]

Correct Answer :-
« 15 [Option ID = 24902]



Which of the following states has launched an employment scheme ‘Yuva Swamibhan Yojna’ for urban youth?

fFrafafEa & 3 f5a vw 3 e garsi & e ve SR g gar Wil aeEr I 3t 82
[Question ID = 259]

1. Kerala / &% [Option ID = 1034]
2. Andhra Pradesh / 3ff$f T¢=T [Option ID = 1035]
3. Madhya Pradesh / A& UaRT [Option ID = 1033]
4. Bihar / fS@R [Option ID = 1036]

Correct Answer :-
« Madhya Pradesh / 4% Uc=T [Option ID = 1033]

5) Which of the following statement for fungi is not true?

Fao & o PR A s Ty a8 &
[Question ID = 310]

1. Fungi are multicellular autotrophic organisms / %dd% SgHIRIGI SHTeIcIthd Sitd § [Option ID = 1239]
2. Fungi are saprophytes / WH@IWH g [Option ID = 1238]

3. Fungi are eukaryotic organisms / &dd JaRaIfed i g [Option ID = 1237]

4. Fungi forms symbiotic relationships / ®dd Tgolidl et ST § [Option ID = 1240]

Correct Answer :-
« Fungi are multicellular autotrophic organisms / ®d& EIEW Gf‘@@% Silg % [Option ID = 1239]

6) Which of the following states launched the initiative "I am not afraid of English"?

frafafaa & J f5a =g 3 & 3Aeh &1 53 T8 B W1 § TRaE S URW fHar?
[Question ID = 269]

1. Haryana / gRaTUT [Option ID = 1076]

2. Uttar Pradesh / 3<R UGRT [Option ID = 1075]
3. Punjab / USTIS [Option ID = 1074]

4. Bihar / TS8R [Option ID = 1073]

Correct Answer :-
« Haryana / g0 [Option ID = 1076]

7) Which of the following are true about Sufi saints-?

I. They discussed spiritual matters.

I1. Devotees of all religion flocked to visit here.

II1. They hold their assemblies in kings' royal courts.

IV. Often people attributed them with miraculous powers.

gw! Ial & aR # Fafafaa 4 @ o9 3 99 8-

I. 3814 smeafdie AMHEl WR ==l Bt

I1. W o & Haa ggi =i+ & e amd g1
III. 3 ol & TTg) GRaR § 31U+ §HIE o 2|
IV. 3R @ 3 I IHPRI Mfeaal &1 39 fear|

[Question ID = 320]

1. II, 111, IV [Option ID = 1278]
2. Only IV / Ryt 1V [Option ID = 1280]
3.1, III, IV [Option ID = 1279]
4.1, 11, 1V [Option ID = 1277]

Correct Answer :-
o I, II, IV [Option ID = 1277]



8) Which state ensures the maximum production of coffee in India?

DI 1 T6T YR § SIBY BT Sfdan Scare- i ear g2
[Question ID = 284]

1. Kerala / % [Option ID = 1136]
2. Maharashtra / HgRRT¥ [Option ID = 1133]

3. Tamil Nadu / df8@Tg [Option ID = 1135]
4. Karnataka / @-lice [Option ID = 1134]

Correct Answer :-
« Karnataka / @+fed [Option ID = 1134]

9) As per NITI Aayog's SDG India State Index 2018 which of the following state/union territory is in the achiever
category?

fafa smahT & wad faery dea (TH S off $f3ur We 39 2018) &) WIfa & SgUR B AT IS/ F+5 AR W= AT U
Faf Bt o F 22

[Question ID = 283]

1. Kerala / % [Option ID = 1129]
2. Himachal Pradesh / fg@mad Uc=T [Option ID = 1131]

3. Tamil Nadu / df8i@HTg [Option ID = 1130]
4. No state/UT of India / 4R BT s 0/ % QTR UG 6] [Option ID = 1132]

Correct Answer :-
« No state/UT of India / HRd &1 s JIT/dg MRIT U 81 [Option ID = 1132]

10) A power is equal to
TS Wfad & SRTER § [Question ID = 311]

1.1 J/s% [Option ID = 1244]
2. 1 KJ/s [Option ID = 1242]
3.1 ]/s [Option ID = 1241]
4. 1 KJ/hr [Option ID = 1243]

Correct Answer :-
e 1]/s[Option ID = 1241]

11) 23:8::32:? [Question ID = 295]

1. 6 [Option ID = 1177]
2. 9 [Option ID = 1178]
3. 27 [Option ID = 1180]
4. 17 [Option ID = 1179]

Correct Answer :-
e 17 [Option ID = 1179]

12) EMBARASSED is to HUMILATED as FRIGHTENED is to

EMBARASSED &1 S Y&t/ HUMILATED ¥ € a8 FRIGHTENED T8
[Question ID = 302]

1. CORAGEOUS [Option ID = 1207]
2. TERRIFIED [Option ID = 1208]
3. RECKLESS [Option ID = 1206]
4. AGITATED [Option ID = 1205]



Correct Answer :-
o TERRIFIED [Option ID = 1208]

13) If triangle ABC is similar to triangle EDF and triangle ABC is not similar to triangle DEF, then which of the
following is not true?

gfe Aryst ABC Y EDF & U § 3R AYs ABC s DEF & wa =gt 8, af fu & @ #1931 T =81 82 [Question ID
= 331]

1. BC . EF = A C. FD [Option ID = 1321]
2. AB . EF = AC . DE [Option ID = 1322]
3. BC . DE = AB . FD [Option ID = 1324]
4. BC . DE = AB . EF [Option ID = 1323]

Correct Answer :-
o BC.DE = AB. EF [Option ID = 1323]

14) Total numbers of factors of 120 are

120 ¥ UTH! B H& TSI & [Question ID = 332]

1. 15 [Option ID = 1327]
2. 12 [Option ID = 1328]
3. 14 [Option ID = 1326]
4. 16 [Option ID = 1325]

Correct Answer :-
e 16 [Option ID = 1325]

15) The median of a triangle divides it into two

o Rye & wifereT 3@ fRAwia &3t 2, & [Question ID = 333]

1. right triangles / THe 0T AYSIf & [Option ID = 1331]

2. triangles of equal area / SRTSR & d Tl Y H [Option ID = 1329]
3. congruent triangles / mﬁmﬁgﬁfﬁ [Option ID = 1330]

4. isosceles triangles / TATGETE Y # [Option ID = 1332]

Correct Answer :-
« triangles of equal area / SRTSR &7 d dla AYSH T [Option ID = 1329]

16) Nelong Valley is located in

AT g1t fRIG 8 [Question ID = 256]

1. Himachal Pradesh / feHT=r@ U= H [Option ID = 1022]

2. Jammu & Kashmir / ST 3R HTHR H [Option ID = 1021]
3. Uttarakhand / STRTES H [Option ID = 1023]

4. Sikkim / fafa®ma # [Option ID = 1024]

Correct Answer :-
« Uttarakhand / STRIES ¥ [Option ID = 1023]

17) During the early morning walk, Shubhra met her friend coming from the opposite direction. Shubhra noticed
that the shadow of her friend to her right. Which direction was Shubhra facing?

Jag B AR & SR T FAudia o= & o 7t o= waelt A fireft 1 gur A 3 6 U wgeh 3t orn Ut o1 &R 31
YT BT Yg fpa ez St v Ut 2

[Question ID = 290]

1. North-east / 3TR- g [Option ID = 1158]
2. North / 3TR [Option ID = 1157]



3. South / Gf&UT [Option ID = 1159]
4. South-east / Gf&0T- gd [Option ID = 1160]

Correct Answer :-
« South / Gf&TT [Option ID = 1159]

18) In a queue, Amrita is 10 from the front while Mukul is 25" from behind and Mamta is just in the middle of
the two, if there are 50 persons in the queue, what position does Mamta occupy from the front?

TP HAR H, Aar IR & 10 &t I U 8 9o gpa 25 3 T ek auar b S & S A 8, 3R Far A 50 Al €,
T THAT BT R JTHA A T 82

[Question ID = 296]

1. 18t [Option ID = 1182]
2. 19t [Option ID = 1183]
3. 20" [Option ID = 1184]
4. 17t [Option ID = 1181]

Correct Answer :-
« 18% [Option ID = 1182]

19) In a cylinder, radius is doubled and height is halved, new curved surface area will be

gfe e Rifeisy @1 Bsur S &2 & wime ik Jarg sneht +¢ &t 9T, Y 5T FaT 9 ysig aFwd g
[Question ID = 329]

1. four times / IR &R [Option ID = 1316]
2. halved / 3l [Option ID = 1313]

3. Doubled / QT [Option ID = 1314]

4. Same / ¥HI [Option ID = 1315]

Correct Answer :-
e Same / ¥HM [Option ID = 1315]

20) A holistic approach for the development of pre-school education upto the senior secondary education is in the
core of-

T qd fRran & afty wreafie Rian & e ¥ Riw te 999 @A - [Question ID = 282]

1. Samagra Shiksha Abhiyan / T5Y & 31f¥™ [Option ID = 1127]

2. Sarva Shiksha Abhiyan / Td fRref 313 [Option ID = 1125]

3. Rashtriya Madhyamik Shiksha Abhiyan / ﬂgrq Trefie fRigm S [Option ID = 1126]
4. Operation Black Board / TR =P de [Option ID = 1128]

Correct Answer :-
« Samagra Shiksha Abhiyan / 5% fR1&T 32T [Option ID = 1127]

21) If Kunal says: ‘Tinku’s mother is the only daughter of my mother’. How is Kunal related to Tinku?

i pue Fedl &:'[EF P Af A Af B gHad! 38 271 puna [P § A HefUd 82 [Question ID = 293]

1. Uncle / HMHT [Option ID = 1171]

2. Father / fOdT [Option ID = 1170]

3. Brother / HT$ [Option ID = 1169]

4. Grandfather / qTal [Option ID = 1172]

Correct Answer :-
e Uncle / HMHT [Option ID = 1171]



22) The energy derived from the food we eat is stored in our body in the form of

R §RT WY 11 91d HISH | UTW $oif AR YRR # ST 819 &1 7Y € [Question ID = 308]

1. Glycogen / TS Io [Option ID = 1231]
2. Glucose / YT [Option ID = 1229]

3. Starch / ¥Td [Option ID = 1230]

4. Fructose / Jpacio [Option ID = 1232]

Correct Answer :-

« Glycogen / TTZH IS [Option ID = 1231]

23) If + means X, X means -, - means <= and =+ means +, then which of the following answers is the correct value
of 8+4%x9-3+1

IR+ BT x, x PTATR -, -PTAF B + 3R, + P13 +, AT A I PT TSRS +4%x9-3+ 1 FTIAG AR
[Question ID = 298]

1. 41 [Option ID = 1189]
2.9 [Option ID = 1191]

3. 29 [Option ID = 1190]
4. 30 [Option ID = 1192]

Correct Answer :-
e 30 [Option ID = 1192]

24) Article 14, 15 and 16 form part of a scheme of the Constitutional Rights to

TG 14, 15 3R 16 HIUTF PR ) FrufufEq § 3 frg ve de o1 e @
[Question ID = 262]

1. Equality / FHIFdT [Option ID = 1045]

2. Abolition of untouchability / 3IRIdT BT 33T [Option ID = 1047]
3. Property / TUfRI [Option ID = 1048]

4. Religious freedom / &1fife Tad=dT [Option ID = 1046]

Correct Answer :-
o Equality / FHEdT [Option ID = 1045]

25) Indian semi-high-speed train ‘Vande Bharat Express’ connects

YR sref-3= T arelt 9 ‘4 YR TR’ Sl @ [Question ID = 266]

1. Prayagraj to Varanasi / TORRTS &1 aRTORYT ¥ [Option ID = 1062]
2. Haridwar to Prayagraj / 8RgR & TIFRTS ¥ [Option ID = 1064]
3. Delhi to Varanasi / f&eai @1 aRTORI F [Option ID = 1061]

4. Delhi to Ahmedabad / faeell BT 3/gHETETG | [Option ID = 1063]

Correct Answer :-

« Delhi to Varanasi / fdeei @1 IRV ¥ [Option ID = 1061]

26) The mission of ‘Unnat Bharat Abhiyan’ is to

‘IAd YR PRI HIA @ [Question ID = 257]

1. make higher education compulsory for all children / T4t st & o 3= e sifard @A [Option ID = 1026]

2. promote cottage industries and empower rural people / W IR &Y deldl T 3R Tmior A ) g=Iad ST [Option ID =
1027]

3. encourage entrepreneurship among youth in India / HRd T EJ,HTGﬁﬁW Eal deldl ol [Option ID = 1025]

4. leverage higher education institutions to bring transformational change in rural development processes / JTHIUT fadr gfsharsif

7 gRadTeR) uRada @M & forw 3= e Gt &1 &y ST [Option ID = 1028]



Correct Answer :-
« leverage higher education institutions to bring transformational change in rural development processes / PIGIUREEDE

ufparsit & uRadaerl uRad= aM & e 3= fRiem G=uY &1 @1y ISHT [Option ID = 1028]

27) Who is the writer of the famous song ‘Sare Jahan se Accha Hindustan Hamara?

wirg fra AR gt A 3eT Rgw™ §0RT & a9 o §?
[Question ID = 264]

1. R. N. Tagore / 3fR. TH. 7R [Option ID = 1053]

2. Bankim Chandra Chattopadhyay / SfdH 9% 9 Id1€™ [Option ID = 1054]
3. Muhammad Igbal / HeH& hdId [Option ID = 1055]

4. Kavi Pardeep / %fd Ucid [Option ID = 1056]

Correct Answer :-
» Muhammad Igbal / g/ <q g dTd [Option ID = 1055]

28) Who amongst the following raised the slogan 'Dilli Chalo'?
fFrafafaa o 3 fea Rt gar &1 R geg feanr
[Question ID = 274]

1. Bhagat Singh / Y7Td g [Option ID = 1093]

2. Lala Lajpat Rai / dTdT dIsdd X1 [Option ID = 1095]

3. Madan Mohan Malaviya / Aig- Hig9 HI@dIT [Option ID = 1096]
4. Subhash Chandra Bose / JHT¥ % 9 [Option ID = 1094]

Correct Answer :-
» Subhash Chandra Bose / §HI¥ % 9 [Option ID = 1094]

29) Who amongst the following has been appointed as the Air India CMD for the second time?

fFafafae ¥ 9 f5a g IR R 3fewr & it wa 1 & wu ¥ g forar mar @2
[Question ID = 265]

1. Sudhir Bharagav / ﬁ‘iﬂ? Hrfg [Option ID = 1060]

2. Ronojoy Dutta / JSITg &l [Option ID = 1057]

3. Pradeep Singh Kharola / Wcid i @RIQT [Option ID = 1058]
4. Ashwani Lohani / 3%t @IgHT [Option ID = 1059]

Correct Answer :-
« Ashwani Lohani / 3{%= @IgFT [Option ID = 1059]

30) Who amongst the following is the author of the book ‘We Indians’?

fFrafafaa A ¥ o9 9@ 3T (e & dus 82
[Question ID = 273]

1. Mulk Raj Anand / e IS 3{T-G [Option ID = 1090]

2. Nirad C Chaudhuri / iR It =1eRY [Option ID = 1089]

3. Khushwant Singh / g=rdd g [Option ID = 1091]

4. Harivansh Rai Bachchan / 8Rd=I X0 s [Option ID = 1092]

Correct Answer :-
« Khushwant Singh / gRrdd Rig [Option ID = 1091]



31) Who holds the record for the highest ODI innings score by an Indian woman cricketer?

T feaeia fpdre ufauifiar &1 vyl & "aiftre safdaa TR 991 arelt 4R Afgan fpder #1982
[Question ID = 260]

1. Harmanpreet Kaur / BT R [Option ID = 1039]
2. Deepti Sharma / <If&t =mf [Option ID = 1038]

3. Mithali Raj / f&ITeit I [Option ID = 1037]

4. Smriti Mandhana / Sfd GYTHT [Option ID = 1040]

Correct Answer :-
« Deepti Sharma / Sifid TMf [Option ID = 1038]

32) Who is known as the ‘the first missile man’ of India?

YR & ‘UYH fiage 89 & =0 & {5 &1 S 82
[Question ID = 261]

1. Dr. U. R. Rao / SI. g, 3R. I [Option ID = 1043]

2. Dr. A. P. J. Abdul Kalam / Y. T. 0. S. 3fsgd Ha™ [Option ID = 1042]
3. Dr. Satish Dhawan / 3T. T &g [Option ID = 1041]

4. Dr. Vikram Sarabhai / ST. fd$H GRTUTS [Option ID = 1044]

Correct Answer :-
« Dr. A. P. . Abdul Kalam / ST. T. O, SI. 3fsgd &a [Option ID = 1042]

33) Who is known as the ‘Father of Green Revolution’ in India?
YR # "gRd Hifd P o’ F U | A ST Srar 82
[Question ID = 271]

1. Prof. P. K. Sen / TR, U, &. ¥ [Option ID = 1082]

2. Nel Jayaraman / I SRR [Option ID = 1083]

3. Dr. S. K. De Datta / SF. TH. &. ¢ T [Option ID = 1081]

4. Dr. M. S. Swaminathan / S1. TH. T9. AU [Option ID = 1084]

Correct Answer :-
e Dr. M. S. Swaminathan / 3. TH. TY. WA [Option ID = 1084]

34) Who was the first writer to create the identity of India with the image of Bharat Mata?

YR ATdT &1 B3 & J1Y YR B! g9 9911 a1 Ugd AP DI 4?2
[Question ID = 318]

1. Rabindra Nath Tagore / Mgy TR [Option ID = 1270]

2. Mahatma Gandhi / TgTT et [Option ID = 1272]

3. Subhash Chandra Bose / gHTY g% I [Option ID = 1271]

4. Bankim Chandra Chattopadhyayya / Sf&H 9% g 19T [Option ID = 1269]

Correct Answer :-
« Bankim Chandra Chattopadhyayya / Sf&H 9% IEIATem™ [Option ID = 1269]

35) Who was the Chief Guest at Republic Day Parade, India, 2019?

YR 2019, Ui g ws, & g7 ifafy &1 42

[Question ID = 255]



1. Crown Prince United Arab Emirates: Mohd. Bin Zayed Al Nahyan / 613 flig Tgad 3RS SHRTA: HigHS fod S 3ic Aga
[Option ID = 1017]

2. Prime Minister Laos: Thongloun Sisoulith / U819 T @i dias Ry [Option ID = 1018]

3. Prime Minister Thailand: Prayuth Chan-ocha / ?ﬂéﬁ's’ & Y HAL: gy -3 [Option ID = 1020]

4. President South Africa: Cyril Ramaphosa / ?‘I‘Qﬂﬁla‘f\&m 3pieT: fafRa IHeT [Option ID = 1019]

Correct Answer :-

» President South Africa: Cyril Ramaphosa / Trgcrﬁr Sf&r Spipl: Rk IET® T [Option ID = 1019]

36) In which of the novel Charles Dickens wrote about the terrible effects of industrialisation on people’s lives and
character

I fEHH A f5T Su=g # il & St iR I wraiemfieur & Hame yumEl & IR # ferar ur
[Question ID = 315]

1. Oliver twist / 3R fg¥e [Option ID = 1258]

2. A tale of two cities / 3 T 3{1th ¢ Wi [Option ID = 1259]
3. The Pickwick Papers / & fi&fad® Tu™f [Option ID = 1260]
4. Hard times / BT TIg® [Option ID = 1257]

Correct Answer :-
« Hard times / gTS TI3W [Option ID = 1257]

37) In frog, metamorphosis is controlled by

Hew B wuiaeur fAuf3da giar @ [Question ID = 313]

1. Insulin / $YfeH §RT [Option ID = 1249]

2. Thyroxine / UTSRITeR §RT [Option ID = 1250]
3. Adrenaline / TGS gRT [Option ID = 1251]
4. Estrogen / TXIo gRT [Option ID = 1252]

Correct Answer :-
« Thyroxine / YTERiTeIT GRT [Option ID = 1250]

38) The quadrilateral formed by joining the mid-points of the sides of a quadrilateral PQRS, taken in order, is a
rectangle, if

PQRS Tqyel F1 Yeraii & Aea-figalf ), ve € %9 §, Aram R a91 9g4e TP 3mad €1 2, fe [Question ID = 326]

1. PQRS is a rectangle / PQRS Udh 3HIId % [Option ID = 1301]

2. PQRS is a parallelogram / PQRS Ud THcR st & [Option ID = 1302]

3. diagonals of PQRS are equal. / PQRS & fapuf SRIER % [Option ID = 1304]

4. diagonals of PQRS are perpendicular / PQRS & faul diead & [Option ID = 1303]

Correct Answer :-
« diagonals of PQRS are perpendicular / PQRS & famuf deaa % [Option ID = 1303]

39) If one of the zeroes of the polynomial y3 + ay? + by + c is —1, then the product of the other two zeroes is

gfe Igue y3 + ay? + by + cis —1 F T # A TH 81 ot 349 3 YT PT SIS € [Question ID = 325]

1.b—a + 1 [Option ID = 1298]
2. b—a—1[Option ID = 1297]
3.a-b -1 [Option ID = 1300]

4.a—-b + 1 [Option ID = 1299]

Correct Answer :-
e b—a+ 1[Option ID = 1298]

40) There are five activity clubs in a school viz. gardening, photography, sports, pottery and dramatics. The
gardening club meets every second day; the photography club meets every third day; the sports club meets every



fourth day; the pottery club meets every fifth day; and the dramatics club meets every sixth day. How many times
do all the five groups meet on the same day within a year (365 days)?

T w@a H uig nfafafy s § ol anrarh, B, @age, uicdeiR Areaddrnl IRTaT 9o ) gaw fod fraan §;
BIERTW F9 8% dIR 3 frerar 8;0age oaa g3 Y 3 fyeran 8; uled) oo« g- uiwd o1 fireran §; ok Arcuwar o9 &%
B & firean 81 v adf (365 foh) ® uw &t fm1 wft uiw wag frait o frea 32

[Question ID = 294]

1. 6 times / 6 dR [Option ID = 1173]
2. 8 times / 8 IR [Option ID = 1174]
3. 12 times / 12 dR [Option ID = 1176]
4. 10 times / 10 dR [Option ID = 1175]

Correct Answer :-
e 6 times / 6 dR [Option ID = 1173]

41) In a polynomial, the exponents of the variables are always

T SgUS H, TR P UTdic AT 814 € [Question ID = 328]

1. Positive integers / F®RIAH JUITd [Option ID = 1310]

2. Non-positive integers / TR-J&HRIAH uifes [Option ID = 1312]
3. Non-negative integers / R-TPRIHAD E[Uﬁ'a7 [Option ID = 1311]
4. Integers / QUITaI [Option ID = 1309]

Correct Answer :-
« Non-negative integers / TR-THRIHD JUIdb [Option ID = 1311]

42) The graph of the linear equation 2x + 3y = 6 cuts the y-axis at the point

I® FHHRT 2x + 3y = 6 BT UTHIHY fdg W y- 31& B HTedl § [Question ID = 334]

2,0)/(2, 0)R

( Option ID = 1333]
(0,2)/(0, )R
(

(

Option ID = 1336]
Option ID = 1335]
Option ID = 1334]

3,00/ 3, 00WR
0,3)/(0, 3)W

o

1.
2.
3.
4.

Correct Answer :-
e (0,2)/ (0, 2)UR [Option ID = 1336]

43) GST in India has been implemented from

YRA A GST @] {41 741 8 [Question ID = 279]

1. 1st January, 2018 / 1 Tﬂﬁ, 2018 ¥ [Option ID = 1115]
2. 1st January, 2017 / 1 SHERT, 2017 J [Option ID = 1113]
3. 1st April, 2018 / 1 30, 2018 ¥ [Option ID = 1116]
4. 1st July, 2017 / 1 J@Ts, 2017 ¥ [Option ID = 1114]

Correct Answer :-
e 1stluly, 2017 /1 @FI]B‘, 2017 9 [Option ID = 1114]

44) No child could be detained upto which Class, under ‘No Detention Policy’ of Right to Education (RTE) Act?
e &1 SfierR (3R & §) siftfgw ot Y fedzm uikRil & srta fareht off =2 &) fore wanm T sravag 181 fpar =
P 3?2

[Question ID = 267]

1. Class IX / D&l IX [Option ID = 1067]

2. Class X / &I X [Option ID = 1068]

3. Class VIII / S & VIII [Option ID = 1066]
4. Class V/ &&T V [Option ID = 1065]



Correct Answer :-
o Class VIII / &I VIII [Option ID = 1066]

45) An atom has an electronic configuration of 2, 8, 2. To which of the following elements it would be chemically
similar?

TP WRUTY] HT FAICI-D BIRBIRIA 2, 8, 2 7 | F9 & A fbwy 9@ & g8 I9mafe =0 A guH= g
[Question ID = 307]

1. C (6) [Option ID = 1227]
2. Ca (20) [Option ID = 1226]
3. K(19) [Option ID = 1228]
4. Na (11) [Option ID = 1225]

Correct Answer :-
e Ca (20) [Option ID = 1226]

46) An online portal ‘ENSURE’ has been launched by

TS 3{Tars UIdd 'ENSURE’ YR~ farar ar 8
[Question ID = 275]

1. Department of Animal Husbandry, Dairying and Fisheries / U] UTei, 3R 3R He& UTei faHNT §RT [Option ID = 1098]
2. Department of Higher Education (MHRD) / I e faum (MHRD) &RT [Option ID = 1097]

3. Department of Science and Technology / faT 3R TN fauTT §RT [Option ID = 1099]

4. Ministry of AYUSH / 3Tg¥ BT gRT [Option ID = 1100]

Correct Answer :-
» Department of Animal Husbandry, Dairying and Fisheries / UY] UTcI-, 3T 3R A UIe fIUTT gRI [Option ID = 1098]

47) Which of the following group represents an example of connective tissue?

FrafafEa & ¥ S19 91 9qg Jaeh SHae ST 30T U¥dd Rl 82 [Question ID = 309]

1. Blood, skeletal muscles, cartilage / Yad, baTdl Gﬁﬂiﬂﬁf?ﬂﬁ, IuTfRYy [Option ID = 1234]

2. Blood, Oesophagus lining, Skeletal muscles / I, THHTY 3R, HebTd B HIGURMET [Option ID = 1235]
3. Blood, bones, brain / Xdd, Efé?ﬁ, AfTsH [Option ID = 1236]

4. Blood, bones, cartilage / I3, gfgal, SUTRY [Option ID = 1233]

Correct Answer :-
« Blood, bones, cartilage / Y&, 8fgdl, SUIRY [Option ID = 1233]

48) Being made to sit separately in the classroom because of one’s background is a form of

TS YEYH & SR B&T # e I6M1 TP FU @ [Question ID = 323]

1. Prejudice / qﬁu’gm [Option ID = 1289]

2. Diversity / fafdear &1 [Option ID = 1290]

3. Discrimination / WGHTd &1 [Option ID = 1292]
4. Stereotype / Ffgdlfadl &I [Option ID = 1291]

Correct Answer :-
« Discrimination / HGHTd &I [Option ID = 1292]

49) MARATHON is to RACE as HIBERNATION is to

MARATHON &T RACE 9 Wil §a¢ § 981 HIBERNATION &7 @ [Question ID = 287]

1. DREAM / DREAM ¥ [Option ID = 1147]
2. WINTER / WINTER ¥ [Option ID = 1145]



3. SLEEP / SLEEP ¥ [Option ID = 1148]
4. FROG / FROG ¥ [Option ID = 1146]

Correct Answer :-
« SLEEP / SLEEP ¥ [Option ID = 1148]

50) As the sailor jumps out of a moving boat in forward direction, the boat moves backward. It is an example of

S g1 e ot Y faw # uep Feredt A1 @ Fadn €, A1a NS B SR el 1 Ig Ueb IR &
[Question ID = 312]

1. Inertia / STScd &I [Option ID = 1245]

2. Newton’s third law of motion / =J&-1 @! TIfdl & TIRT 8 T [Option ID = 1248]
3. Newton’s second law of motion / =g+ &1 Tfd & E&RT AW &7 [Option ID = 1247]
4, Momentum / 3371 &T [Option ID = 1246]

Correct Answer :-

« Newton'’s third law of motion / =& &1 TIfd & TRRT 99T &1 [Option ID = 1248]

is formula of

FEAE

[Question ID = 13727]

1. Propane / ST9+ [Option ID = 24905]

2. Propanoic acid / STITHTZ TfHE [Option ID = 24907]

3. Propanal / TU=<T [Option ID = 24908]
4. Propanol / STOTeT [Option ID = 24906]

Correct Answer :-

« Propanoic acid / TTITHIZa TfE [Option ID = 24907]

52) SAARC University has its head office in

T fayfaemey <1 = satag g
[Question ID = 276]

1. Dhaka (Bangladesh) / GT&T (S¥ATGRT) [Option ID = 1101]
2. New Delhi (India) / 7% faeai (WRd) [Option ID = 1102]
3. Colombo (Sri Lanka) / @ierwal (iceT) [Option ID = 1103]
4. Male (Maldives) / HTa (HTEI4Id) [Option ID = 1104]

Correct Answer :-
« New Delhi (India) / 7% f&eefl (WRd) [Option ID = 1102]

53) Who amongst the following is the author of the book ‘*Hindu View of Life"?

Frafafaa & ¥ o9 wae 'Rg g oife a15% &1 39 82 [Question ID = 263]

1. Aurobindo Ghosh / 3Rfs=g O [Option ID = 1049]
2. Dr. S. Radhakrishnan / S, TF 416 [Option ID = 1050]



3. Maulana Abdul Kalam Azad / EIKIG 3fegdl D alTH 3Tl [Option ID = 1051]
4. Mahatama Gandhi / H&TT il [Option ID = 1052]

Correct Answer :-
« Dr. S. Radhakrishnan / Sf. TF JYTHWH [Option ID = 1050]

54) Find the wrong term of the series?

G DI A AT JTd BIFOTL?
7, 28, 63, 124, 215, 342 [Question ID = 303]

1. 124 [Option ID = 1211]
2. 28 [Option ID = 1210]
3. 7 [Option ID = 1209]
4. 215 [Option ID = 1212]

Correct Answer :-
o 28 [Option ID = 1210]

55) Find the wrong term of the series

e Bt TTed HSAT JTd BT

1, 3, 10, 21, 64, 129, 356, 777 [Question ID = 288]
1. 356 [Option ID = 1152]

2. 10 [Option ID = 1149]

3. 129 [Option ID = 1151]
4. 64 [Option ID = 1150]

Correct Answer :-
e 356 [Option ID = 1152]

56) Find the missing term of the series?
YT BT Yol HBAT [T BIfoTg?
6,11, 20, 37, 70, ?, 264 [Question ID = 285]

1. 135 [Option ID = 1138]
2. 139 [Option ID = 1140]
3. 131 [Option ID = 1137]
4. 137 [Option ID = 1139]

Correct Answer :-
e 135 [Option ID = 1138]

57) Find the missing term of the series?

Yl ¥ g WS DI JTd BIfog?
2,3,6,15,?, 123 [Question ID = 300]
1. 57 [Option ID = 1200]

2. 47 [Option ID = 1198]

3. 52 [Option ID = 1199]
4. 42 [Option ID = 1197]

Correct Answer :-

e 42 [Option ID = 1197]

58) 'I am and I will’ campaign was launched on



H g 3R | S AT YR fooam wam U1
[Question ID = 258]

1. World Cancer Day, February 4 / {34 %R faad, 4 ®ast & [Option ID = 1030]

2. International Women'’s Day, March 8 / &I?R'@H #fgerr fea9, 8 o= I [Option ID = 1031]
3. International Literacy Day, September 8 / 3{cRTSIT H1&Rdl faad, 8 RidsR &1 [Option ID = 1032]
4. National Girl Child Day, January 24 / IS STfereb! fdad, 24 Sal &1 [Option ID = 1029]

Correct Answer :-
« World Cancer Day, February 4 / fa% SR faaq, 4 wRad} &1 [Option ID = 1030]

59) If each observation of the data is increased by 8, then their mean

Ife 3ipsl F TS N&uT & 8 FI gfex B STl § @ ITHT HIH [Question ID = 330]

1. becomes 5 times the original mean / J& A1ed § 5 TMHT &1 STl § [Option ID = 1318]
2. isincreased by 8 / 8 @E@?IT % [Option ID = 1320]

3. remains the same / T 8! IgdT & [Option ID = 1317]

4. is decreased by 8 / 8 Jucdi g [Option ID = 1319]

Correct Answer :-
e isincreased by 8 / 8 q dedl % [Option ID = 1320]

60) Plant cells are different from animal cells. It is by the presence of

UTeY HIRIPTE THaR] B1 HIRAB13 A 3 gl &1 g8 frae! IufRufa & e gidt 8
[Question ID = 314]

1. Cell membrane / BT f3reelt [Option ID = 1254]
2. Plastids / WITR<S [Option ID = 1256]

3. Cytoplasm / PIfReT 4 [Option ID = 1255]

4. Mitochondria / ATSCI®I~T [Option ID = 1253]

Correct Answer :-
« Plastids / @S [Option ID = 1256]

61) A car covers a distance of 1080 km in 18 hours. The speed of a train is double the speed of the car. The speed
of a bike is equal to two- third of the speed of the train. The distance covered by the bike in 5 hours would be

T® PR 18 U2 A 1080 5t Ft gt 99 Tt 3139 3t 1fd R o1 7fa | SR B Ivw asw Pl A F 1fa & -fags &
ISR gl 315 °e B 9159 §RT a9 B1 TS g3 8171t [Question ID = 327]

1. 400 km / 400 f&Ht [Option ID = 1307]
2. 500 km / 500 fa5HT [Option ID = 1308]
3. 360 km / 360 f&HT [Option ID = 1306]
4. 450 km / 450 f&HT [Option ID = 1305]

Correct Answer :-
+ 400 km / 400 faHt [Option ID = 1307]

62) Chinese tech company Huawei and ZTE were banned in many countries from providing

A TP Hut g3mas iR oS & § P F3 I A W B W ufdy @ faay war ot
[Question ID = 280]

1. Data Cable / ST %&d [Option ID = 1120]

2. 5G technology equipment / 5 St TefiTet SUHRUT [Option ID = 1117]
3. High tech toys / 3= A& & RaH [Option ID = 1119]

4. Mobile phones / HISTSd I [Option ID = 1118]



Correct Answer :-
» 5G technology equipment / 5 St TNt IR [Option ID = 1117]

63) Which of the following reactions is not an exothermic reaction?

fafafea # @ 19 It ufafssar v eyl ufaferar 7€) 82 [Question ID = 305]

1. Burning of coal / CARGIRS I [Option ID = 1217]

2. Electrolysis / Taiae R4 [Option ID = 1219]
3. Respiration / 4 [Option ID = 1218]
4. Decomposition of vegetable matter into compost / WTe # g-dfd Uard &1 3fuee- [Option ID = 1220]

Correct Answer :-

« Electrolysis / TaaIQIRId [Option ID = 1219]

64) Which of the following schemes has been announced in Budget 2018-19?

frafafaa d ¥ 19 @ TieAT T9ic 2018-19 # 9T 1 TS 82 [Question ID = 277]

1. GOBAR DHAN / Tl/&R&H (GOBAR DHAN) [Option ID = 1108]
2. STRIVE / ¥T5d (STRIVE) [Option ID = 1106]

3. MUSK / T%& (MUSK) [Option ID = 1107]

4. SANKALP / Tded (SANKALP) [Option ID = 1105]

Correct Answer :-
 GOBAR DHAN / MERYT (GOBAR DHAN) [Option ID = 1108]

65) Which of the following country won the 2018 Dubai Kabbadi Masters Tournament?

fFrafafea & @ f5a 3273 2018 gas Hagl ARed gAtde Sfidar? [Question ID = 270]

1. India / f&3T1 [Option ID = 1079]

2. Pakistan / OTfd<d™ [Option ID = 1077]

3. Iran / X [Option ID = 1080]

4. Republic of Korea / PINAT TR [Option ID = 1078]

Correct Answer :-
« India / £33 [Option ID = 1079]

66) Which of the following state of India tops of the list of ‘Ease of Doing Business’ for the year 2018?

Ty 2018 & T URT BT B T IT '§9 16 I fIo1’ Y Taft & Iad FWR 82 [Question ID = 278]

1. Karnataka / e [Option ID = 1109]

2. Andhra Pradesh / 3fi$[I& =T [Option ID = 1110]
3. Maharashtra / HgRRT¥ [Option ID = 1112]

4. Haryana / 830 [Option ID = 1111]

Correct Answer :-
« Andhra Pradesh / 3fffWc=T [Option ID = 1110]

67) Which of the following planets have rings around them?

frafafea # 3 f5a 981 & IR 3R 9% 82 [Question ID = 321]

1. Jupiter and Neptune / §8fd 3R THUT [Option ID = 1284]
2. Jupiter and Venus / Eﬁmﬁ 3R R [Option ID = 1282]

3. Saturn and Mars / I 3fR HI [Option ID = 1281]

4. Saturn and Mercury / Q14 3R gY [Option ID = 1283]

Correct Answer :-
» Jupiter and Neptune / EEWI%T 3R TB0T [Option ID = 1284]



68) Which of the following is true about Ashoka’s Dhamma?

3RMNE & 4™ & IR A Faferf@a # ¥ 19 °1 98 82 [Question ID = 319]

1. Performance of sacrifices / Sfera1 &1 g [Option ID = 1275]

2. Following rituals / @St &7 U@ [Option ID = 1273]

3. Respecting all religions / guft ¢t o1 T BT [Option ID = 1274]

4. Giving no gifts to Brahmin and monks / SITEUT 3R fef3ff B1 PHIs IUSR & ST [Option ID = 1276]

Correct Answer :-
» Respecting all religions / Tuft ef 1 g BT [Option ID = 1274]

69) A child saves money in his piggy bank. The money saved is in coins of Rs. 1, 5 and 10. The total money in his
piggy bank is found to be Rs. 480/-. If the number of coins in each denomination is equal, what is the total number
of coins in his piggy bank?

T To1 3UA T[ea® | U 91a1 81 §91¢ T 39 1, 5 3R 10 & Rigs! & 3.39% Tae d $o 99 T 480 /2 -1 afe vd®
Taa & Riaw! &1 WBI THH B, a9 37F Tead § Rgd! It oo 4@ 1 82

[Question ID = 304]

1. 75 [Option ID = 1215]
2. 45 [Option ID = 1213]
3. 90 [Option ID = 1216]
4. 60 [Option ID = 1214]

Correct Answer :-
e 90 [Option ID = 1216]

70) With which nation India signed an agreement ‘Mobilize Your City’ in September, 20182

fora 321 & 1Y HIRT A RydeR, 2018 AAfSags ok R gHsiar f$ar? [Question ID = 281]

1. Germany / S [Option ID = 1122]
2. France / T [Option ID = 1124]
3. Japan / SIUE [Option ID = 1123]
4. Sweden / &84 [Option ID = 1121]

Correct Answer :-
e France / 19 [Option ID = 1124]

71) In a code HINDON is written as JFRZYG, how would you write SPECIAL in that Code?

TP HIS § HINDON &1 JFRZYG & =Y # frRar STdT 8, 34 39 $Is # SPECIAL $9 fir@7? [Question ID = 286]

1. TMIXDPR [Option ID = 1143]
2. UMJYNPR [Option ID = 1144]
3. UMIXOTT [Option ID = 1141]
4. TNDDHZK [Option ID = 1142]

Correct Answer :-
o UMIXOTT [Option ID = 1141]

72) In a code BRAND is written as 4203166, how would you write LIGHT in that code?

TP BIS § BRAND F 4203166 foRar SITaT §, 37 39 IS A LIGHT $4 fA@1? [Question ID = 301]

1. 131011921 [Option ID = 1202]
2. 141091021 [Option ID = 1203]
3. 141191022 [Option ID = 1201]
4. 131110922 [Option ID = 1204]

Correct Answer :-



« 141191022 [Option ID = 1201]

73) If1x4=10; 2x5 = 14; 3 x 6 = 18; what is the valueof4 x8 = ?

gfed1x4=10; 2x5 = 14; 3 X 6 = 18 ¥;d1 4 X 8 = BT HIH T &2 [Question ID = 292]

1. 28 [Option ID = 1166]
2. 32 [Option ID = 1167]
3. 24 [Option ID = 1165]
4. 36 [Option ID = 1168]

Correct Answer :-
e 24 [Option ID = 1165]

74) A pencil costs Rs. 7 each while an eraser costs Rs. 5 each. Raghu spent Rs. 38 to purchase them. How many
pencils did he purchase?

T URIa 1 FIHa & 7 8 Wafd T WS P P T 58 | TG A 37 Wil & e v 38 T A | 39 fha-t 9fya @iz
[Question ID = 289]

1. 5 [Option ID = 1156]
2. 4 [Option ID = 1155]
3. 2 [Option ID = 1153]
4. 3 [Option ID = 1154]

Correct Answer :-
e 4 [Option ID = 1155]

75) The highest civilian award in India bestowed in recognition of exceptional service/performance of the highest
order in any field of human endeavour is

YR ¥ Fafer ARTR® REGR U9 50 & {6 oft & ¥ Sear Sife/ srmuror Suafdr & uei= &t ar=uar 8
[Question ID = 272]

1. Bharat Ratna / HRRd ¥d [Option ID = 1085]

2. Padma Vibhushan / Wﬁl‘[ﬁﬂﬂ [Option ID = 1088]
3. Padma Shri / 9T 4t [Option ID = 1086]

4. Padma Bhushan / UsT YYUT [Option ID = 1087]

Correct Answer :-
« Bharat Ratna / HRd ¥d [Option ID = 1085]

76) The plateau

1. is rich in mineral deposits

II. may have small summits and a broad base.

III. may have one or more sides with steep slopes.

IV. is a flat-topped table land standing above the surrounding area.

TSR

I. @ HeR § 995 21

I1. B¢ RRER 3R AU® YR g god &l

119 a9 & 91U U 91 U & 3P el & g gohd &l

IV. U Jure-3 arel gt A9 @ &l U & 89 F SR g

[Question ID = 324]
II, IV [Option ID = 1295]

1.1
2.1,1

3.1, II, IV [Option ID = 1294]
4.1, 11, I1I [Option ID = 1293]



Correct Answer :-
e I, III, IV [Option ID = 1295]

77) The raito of males and females in a population is 2:3. If 70% males and 40% females are employed, what is
the percentage of total employed population?

wmﬂ'@%ﬁgw‘faﬁ?nﬁmaﬁaﬁm 2: 3 81412 70% T3 3 40% ARFATT FRIG g, 9l T SRR F-EGI BT
wfa=ra w1 82

[Question ID = 291]

1. 58% [Option ID = 1164]
2. 52% [Option ID = 1162]
3. 55% [Option ID = 1163]
4. 48% [Option ID = 1161]

Correct Answer :-
e 52% [Option ID = 1162]

78) Cost cutting by a company means

PUI GIRT ANTd | Heldl BT Adad & [Question ID = 316]

1. Reducing the supply of finished goods / JIR AT Pt &T{ﬁ D HH HRAT [Option ID = 1262]

2. Reducing the cost of finished product / TR JTE B! ARTA BT HH BT [Option ID = 1263]

3. Reducing the wages of workers / HH®[ & HSIg &I HH H=AT [Option ID = 1261]

4. Recruiting more people to reduce the load over a single labourer / Tdh ASgI TR YR HH P & forg 3ifde A ot il BT
[Option ID = 1264]

Correct Answer :-
« Reducing the wages of workers / 4TH@®] &I HoIGRl &I HH BT [Option ID = 1261]

79) ‘Digital India’ campaign launched by Government of India aims at

YRd PR gRT = foar mar fefrea §fsar sifiam 13839 8 [Question ID = 268]

1. empowering village youth with computer literacy and skills / R IT&RT 3R DIl & Y Ta b ﬁfﬂx’rﬁ P gad I
[Option ID = 1072]

2. creating a network of telecommunication across all villages / qoft et | RIIR BT Fead R HAT %‘ [Option ID = 1071]

3. transforming India into a digital empowered society and a knowledge economy / HRd P! fefred gad g9 SR I
3rferae & §aeT § [Option ID = 1069]

4. providing laptops to all students in higher education institutions / 3= fRren It 7 gyt o B duerd UeH SR 8 [Option
ID = 1070]

Correct Answer :-

« transforming India into a digital empowered society and a knowledge economy / HRd ! & Txred TS 3R 14
3rfarawt & §aT § [Option ID = 1069]

80) A certain number of men can do a piece of work in 40 days, but if there were 8 men more, it would be finished
in 10 days earlier. The number of men were

gyl @1t ¥ G 40 A1 A v o1 HR 9Fdl 8, AfP 3R 8 g iR 214, @t 10 o7 ugd € w0 W Y |rav
goul 3t e A

[Question ID = 297]

1. 28 [Option ID = 1186]
2. 26 [Option ID = 1187]
3. 24 [Option ID = 1188]
4. 30 [Option ID = 1185]

Correct Answer :-



e 24 [Option ID = 1188]

Topic:- BED_SEMR_T2

1) Read the passage carefully and answer question

James Madison said, “A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, “This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

Right to Information is a major step forward to [Question ID = 337]

1. to gain knowledge of administration [Option ID = 1347]

2. enable citizens to participate fully in the decision-making process [Option ID = 1345]
3. to make the people aware of the Act [Option ID = 1346]

4. to make the people Government friendly [Option ID = 1348]

Correct Answer :-
» enable citizens to participate fully in the decision-making process [Option ID = 1345]

2) Read the passage carefully and answer question

James Madison said, “A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, “This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

The Prime Minister considered the Bill [Question ID = 338]

1. to check the harassment of the people [Option ID = 1352]

2. to provide power to the civil servants [Option ID = 1349]

3. a draconian law against the officials [Option ID = 1351]

4. as an instrument for improving Government-citizen interface resulting in a friendly, caring and effective Government [Option ID
= 1350]

Correct Answer :-



 as an instrument for improving Government-citizen interface resulting in a friendly, caring and effective Government [Option
ID = 1350]

3) Read the passage carefully and answer question

James Madison said, “A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, “This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

The Prime Minister considered the Bill innovative and hoped that [Question ID = 340]

1. it would not be considered as a draconian law for paralyzing Government [Option ID = 1359]
2. All the above [Option ID = 1360]

3. the civil servants would see the Bill in a positive spirit. [Option ID = 1358]

4. it could be reviewed based on the experience gained on its functioning [Option ID = 1357]

Correct Answer :-
« All the above [Option ID = 1360]

4) Read the passage carefully and answer question

James Madison said, “A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, “This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commiission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

The Commission made the Bill effective by [Question ID = 339]

1. extending power to the executive authorities [Option ID = 1353]

2. recognizing Judiciary, a pioneer in implementing the act in letter and spirit [Option ID = 1355]
3. combining the executive and legislative power [Option ID = 1354]

4. educating the people before its implementation [Option ID = 1356]

Correct Answer :-
 recognizing Judiciary, a pioneer in implementing the act in letter and spirit [Option ID = 1355]



Read the passage carefully and answer question

James Madison said, “A people who mean to be their own governors must arm themselves with power that
knowledge gives.” In India, the Official Secrets Act, 1923 was a convenient smokescreen to deny members of the
public access to information. Public functioning has traditionally been shrouded in secrecy. But in a democracy in
which people govern themselves, it is necessary to have more openness. In the maturing of our democracy, right
to information is a major step forward; it enables citizens to participate fully in the decision-making process that
affects their lives so profoundly. It is in this context that the address of the Prime Minister in the Lok Sabha is
significant. He said, "I would only like to see that everyone, particularly our civil servants, should see the Bill in a
positive spirit; not as a draconian law for paralyzing Government, but as an instrument for improving Government-
Citizen interface resulting in a friendly, caring and effective Government functioning for the good of our People.”
He further said, “This is an innovative Bill, where there will be scope to review its functioning as we gain
experience. Therefore, this is a piece of legislation, whose working will be kept under constant reviews.”

The Commission, in its Report, has dealt with the application of the Right to Information in Executive, Legislature
and Judiciary. The judiciary could be a pioneer in implementing the Act in letter and spirit because much of the
work that the Judiciary does is open to public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about * 700 crores which would bring about systematic classification, standardization
and categorization of records. This would help the judiciary to fulfil its mandate under the Act. Similar capacity
building would be required in all other public authorities. The transformation from nontransparency to
transparency and public accountability is the responsibility of all three organs of State.

A person gets power [Question ID = 336]

1. through openings [Option ID = 1343]

2. by denying public information [Option ID = 1344]

3. from the Official Secrets Act, 1923 [Option ID = 1342]
4. by acquiring knowledge [Option ID = 1341]

Correct Answer :-
« by acquiring knowledge [Option ID = 1341]

Topic:- BED_SEMR_T3

1) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. “This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the



areas.
Security personnel were deployed in order to

[Question ID = 345]

1. discourage visitors from carrying eatables inside [Option ID = 1380]
2. protect caves from vandalism [Option ID = 1377]

3. help authorities to implement regulations [Option ID = 1378]

4. help clean up the surroundings [Option ID = 1379]

Correct Answer :-
 protect caves from vandalism [Option ID = 1377]

2) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. "This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas.

The six metres high three headed bust of Shiva is known as
[Question ID = 343]

1. Maheshmurti [Option ID = 1371]

2. Ascetic Shiva [Option ID = 1370]

3. Natraja [Option ID = 1369]

4. Ardhnarinateshwar [Option ID = 1372]

Correct Answer :-
e Maheshmurti [Option ID = 1371]

3) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-



cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. “"This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas.

Before being declared a World Heritage Site, the caves were
[Question ID = 344]

. in a precarious state [Option ID = 1376]
. in a filthy state [Option ID = 1373]

. in a dilapidated state [Option ID = 1374]
. in @ magnificent state [Option ID = 1375]

D WN =

Correct Answer :-
« in a dilapidated state [Option ID = 1374]

4) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. “This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the



organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas.

The most potent threat the caves suffer from is
[Question ID = 346]

1. the rapid industrial development in their vicinity [Option ID = 1384]
2. the toxic chemical storage terminal [Option ID = 1381]

3. the bilge from oil exploring activities [Option ID = 1382]

4. plastic dumped in the sea [Option ID = 1383]

Correct Answer :-
« the rapid industrial development in their vicinity [Option ID = 1384]

5) Read the passage carefully and answer question

One thousand and five hundred years ago, when craftsmen began cutting rocks and sculpting them into
magnificent statues of gods, little did they realise that in the second millennium the Elephant Caves would not just
be a major tourist attraction but would also be a World Heritage Site. Now the world’s oldest island caves are
getting a new lease of life. The Indian National Trust for Art and Cultural Heritage (INTACH) has teamed up with
the Archaeological Survey of India (ASI) to spruce up the caves and protect them from further decay and
degeneration. Elephanta Caves date back to the sixths century and boast of some of India’s most magnificent rock-
cut sculptures of Lord Shiva. Situated about 11 km from the Gateway of India, these caves are reached by small
boats. Once on the island, visitors have to climb over 1,000 stone steps to get to the caves. The caves were
originally built during the reign of the Rashtraputa kings. They contain huge images of Brahma, Parvati, Natraja
and Shiva. The best and most famous of these is Maheshmurti---- a three headed bust of Shiva which is about six
metres high. The great elephant structure in black stone which gave the island its name was removed in 1864 by
British to take it to England. However, it was later returned to India and now stands at the Victoria Gardens, a park
with a small zoo in the centre of Mumbai. On top of the caves are two huge cannons installed by the British in
order to protect Bombay harbour. In the main cave there are nine carvings which depict the life of Lord Shiva in
different manifestations --- the dancer (Natraja), Shiva killing demon Andhaka, marriage ceremony of Shiva and
Parvati, Shiva’s descent to the Ganges, Shiva as Ardhnarinateshwar, Shiva as Maheshmurti. Shiva lifting Mount
Kailash, Goddess Parvati on Mount Kailash and Shiva as ascetic. Back in the mid-eighties, a team of leading
international archaeologists, conservators and historians visited the site and forwarded a proposal to UNESCO to
grant heritage status to the caves. The proposal was accepted and Elephanta Caves were declared a World
Heritage Site in 1987. The most important part of the effort was to clean the surroundings of the heritage site. For
example, there is an ancient site built adjacent to the gate which houses some of the best frescoes and showcases
the art of carving out statues by cutting rock. The next phase was to clean up the littered surroundings and also to
discourage visitors from carrying eatables and plastic bags inside the caves. This step too was roundly criticised
but gradually people were educated on the historic and religious importance of the caves and the incidents of
littering have considerably reduced. To protect the caves from vandalism security personnel were deployed a year
ago. "This has helped authorities to implement regulations stringently,” says as INTACH volunteer of the
organisation’s Mumbai chapter. Elephanta Caves have for years been threatened by the rapid industrial
development in their vicinity. A toxic chemicals storage terminal has been planned just 400 metres away. Bilge
from oil-exploring activities and plastic dumped in the sea, have seriously threatened marine and bird life of the
areas.

The most distinguishing feature of the Elephanta Caves is
[Question ID = 342]

1. that rocks have been cut and sculpted into magnificent statues of gods [Option ID = 1367]

2. that these are the world’s oldest island caves [Option ID = 1366]

3. that they date back to one thousand and five hundred years ago [Option ID = 1365]

4. that they have some of the most magnificent rock-cut sculptures of Lord Shiva [Option ID = 1368]

Correct Answer :-
« that they have some of the most magnificent rock-cut sculptures of Lord Shiva [Option ID = 1368]

Topic:- BED_SEMR_T4



1) Fafafed =i & Iy d§ I8 T gyl 1 dbfcud Il § | a8t 3w ot fafgq sifsre

AR GUR A1 T & a0 3d ST I 3541 ST 71 6 A1t g3l IR 81 3@ 3 féfat a, oTeT exell iR armeer= g frera
fawrg 3a &1 AfhT 5 gH 98T ugdd g, d g A9RT 3 fagwdr aar orar 81 MR 39 TR &1 HIs AR-BR gH ¢ fewrs
a1 21381 N @R TR Sita oft 31 Righ 3t 7 9= fa Iuamg & s gt 7, afea #ig ot Iumn gof 9 art s, e
gt & 39 e § 1 IS ot Iuwr 39 W H avE five 78 Aot | TfE =T Sitaw & ve el fare wra 3, 3 gz of
Tra A f Tt Sl 3t guH U QA 3159 21 98 T1ed & 7 $u orua ward  siur i fedt gk ofta & oA s 8w
T 9R | afe ST VAT HaT B, O U8 9gd 997 3T B 1 gUR AR Wivfae U J teh-gw 9 A T8 @1 €, aAfe gt
Tqad g 7Tl a1 fh 80 ¥Rl & 37D ofF & 7P A dfd X & 198 a1 MU, Ig UHia 3R I8 [T Y-Hed gd aRardd
gt 9a1 ¥eT ® fp a1l A Apw A a5, Tl & gu U A Sfieq fam &1 5@ 21 forg @ @ g@ emawE & R g7 wioft
o fapeft 57 & o, 91 a9 &1 SifUe 8, St ave & UTHa-ur &1 WuTE ot g1 A1t 6 a8 orm ofF & a1y Rl &
I A BT 8P 7 B | T8 RIAH gH o7 a8 ¥ YT A geprI farar 8, 30 @ve 9 & ot arg-wnfa 3 il 1 a7 @
FeaR fEaTd 3= o1 & R 1 3r@eR 31 71T | g7R1 & o9 & & &1 S | T87 WY I1 U9 $© 81 81 T |

IS 27 A Sew # St fraa &t g 2
[Question ID = 350]

1. gell T ¥ [Option ID = 1397]

2. f&ifasT 9 [Option ID = 1399]

3. gt Sfidi ¥ [Option ID = 1398]

4. 9gl ST X@! Qs 3 [Option ID = 1400]

Correct Answer :-

« ol g ¥ [Option ID = 1397]

2) frafafEa e & g<d & g e gl @1 defdua SRl ° 9 3w 3t ~Riffa Fifv

URT TOR Fd TH & a0 3Fd ST A 54T 3171 81 59 St g8l R € 31 § ot aw, ot et iR s g% firerd
fawrg 3 &1 AfhT i gW 98T ugdd §, dl 8 AWRT 31 g aar oirar 81 MR 39 T9R &1 HIS AR-BR gH 8 fewrs
31 2131 o2t @Re gurT ofiaw ot 81 Rigwh #Y 7 o fra Suamd & o g 8, Afw o1 ot Suan gof =48 7rh 1€, =i
gt & 39 et § 1 IS ot IuwT 39 W F avE five 6t Aot | TfE =T Sitaw & ve @elt fpare ara 3, 37 ag off
T A f Gt Sl 3t guH U QA 3189 21 98 T1ed & 7 $u orua ward # siur g1 fbedt gk ofte & oA s 8w
T 9R | afe ST VAT HaT B, O U8 9gd 997 3T B 1 gUR AR Wivifa® U I Uh-ga | Ad T8 @ €, aAfe gt
qdd Ug el gial fb g0 guR) B 3P o4 & §F A dfad B &[98 AT RIHH, Tg Ui 3R 98 W Y-Hsd g aR3rTd
g 9a1 ¥e1 § fp a1l [ Apw A a5, Tt Y guH U A Sfieq @ &1 5% 81 forg e @ g@ $mawE & R g? wioft
o fareft 57 & <, 91 a9 37 SifUe) 8, St ave A UTHa-ur &1 WuTE ot 391 A1t 6 a8 orm ofF & a1y Rl |
I A BT 8P 7 B | T8 RTAH gH o7 a8 ¥ YT | gepRI fardar 8, 30 @ve 9 & ot arg-wfa 3 ol 1 s @
FedR feaTe 3= o7 & R 1 3r@@R 1 71T | g¥RT & o9 & & &1 S | T87 WY I1 U9 $© 81 81 e |

fefawr frd wga 82
[Question ID = 352]

1. 58T & Rt femrg usdh 8 [Option ID = 1406]

2. T ¥ &Rt 3R 3BT femaTE U= [Option ID = 1407]

3. STET eRalt 3R ATHT UN-UT §id & [Option ID = 1405]

4, TET eRlt SR SewH et g faams < € [Option ID = 1408]

Correct Answer :-

o ST eRdT 3R A e gU f3@rE 2d § [Option ID = 1408]

3) FufafEa e & < & U@ e vl @1 defaud Wi A ¥ 8 W @1 [kt i

ART HGR el T & T 3d HTer 4 g1 34T ¢ 1 gH YISt g8 W 8 3=d & farforst 9, oref erdt 3l armeprar g freral
e 33 ¥ frT 9o 5w 7T ugaa §, A g% AR o e Ia St 31 3R §H TR 31 B AR-BR 7 g ferd
a1 21381 N @R guRT Sita oft 31 Righ 3t 9 9 fpa- Iuamg & 5 gt 7, afea w15 ot Iumn gof 98 arht 18, Faife
gt & 39 e § 1 IS ot IuAr 39 W Y avE five 6t Aot | TfE =T Sitaw & vw @elt fare ara 3, 3 ag off

T A f Tt Sl 3t gaH U QA 159 21 98 T1ed & 7 S0 oA ward # siur g1 fredt g ofte & oA s e
T 9R | afe ST VAT HaT B, O U8 9gd 997 3T B 1 TUR AR Wivfae U I Uh-ga | A T8 @1 €, AfeT gt
Aqad Ig Tl gial {h §H gkl Bt TP i & §P I dfad B 3 198 AT RIHM, Ig UPHid R 98 T Y-HSd g4 avard
gt 9a1 381 § fp a1l  Apw N a5, Tt ' guH = A Sieq i@ &1 5@ 81 forg e 9 ga $mauE & R g7 wioft
o faeft 57 & <, 91 a9 &1 SifUer 8, St ave A UTHa-u &1 WuTE ot 391 A1t 6 a8 orm ofF & a1y Rl |
I o BT8P 7 B | T8 ATHHH g8 O g @ 4T A FeoRT a8, 3t avg @ g it aea-anfa A shaf s s @



QepRI fedrey I S & forg QT 3aER 41 T1fe ¢ | gORI & SF & g I DA I IST WY IT UTY $© ol ol JPbdl|
STHHTE g feara 8
[Question ID = 348]

1. 4aHtd 7 A &1 UG [Option ID = 1391]
2. Y ¥ GCPHR & YA [Option ID = 1390]
3. T&T HH &1 gd4 [Option ID = 1392]

4. TY-TY g PT IR [Option ID = 1389]

Correct Answer :-
o UG Y FCHR FT SAYEH [Option ID = 1390]

4) Fufafaa T & < ¥ g U usf &1 defaud Iw A @ 98 R @) it Fifse

IRT TOR 4 TH & a0 3Fd ST A 75T 31 81 50 NSt g8 R € SWa § faforst a5, ot et iR snmopr=r g% frera
fears 3a €1 afhT o1a gw 981 ugua €, o) U8 T9IRT S feha =aT oIt 21 3R 39 9k &1 $1% 3-8 gd 81 flears
a1 21381 30 @R guRT Sita oft 31 Righ 3t 7 9 fpat Iy & i gt §, afea #15 ot Iumn gof & art 18, waife
foigiht & 3a uer € fr ®13 ot Iuwn 39 W I avE fbe 18 do<dit | 591 =0T oftast # vep et fpare wra @, ik g ot
T A 75 Jft Sial &1 Jum =0 F o 3159 21 98 red A f 9 oA W A siwT gl it gy e d iR w1 g9
T AR | 9fe O VAT HIT ¢, df 98 9gd T871 3 81 gUR R Wmivfies ©u d teh-gay 9 A9 78 9N §, afe gaer
qad I8 Tl gidl fh §U gkl Bt TP o4 & 5P A dfad B 3 198 AT RTHM, Ig UPHid R 98 T Y-HSd g av3d
g} ga1 37T © f ardht @ awx A ao, it & 9w wu J oftaq fiam &1 89 31 o ave ¥ g emauE & AR g) uioft
o folt 53 & o9, ITa A9 &1 SiftreY 2, 33t e | AFe-u &1 Wy ft 11 Wit % a7 orm ofR & wry Rl |
IS A BT8P 7 B | T8 RIAH gH o7 a8 ¥ YT I gepRI fardr 8, 30 @ve 9 & ot areg-wfa 3 ol 1 s @
FePRI fFATHR 3¢ Wi & I T 3@awR AT I1RY | gkl & 7 & §F ) B9 A TST S(WRIY T UMY $S 81 g1 APl |

af et &1 SR-BR A& R, @
[Question ID = 351]

1. I9&1 RR1 718 fadr [Option ID = 1401]
2. 3T faR 31f¥e g [Option ID = 1403]
3. 34! AT 81 § [Option ID = 1402]

4. 39% §gd I R § [Option ID = 1404]

Correct Answer :-

« 3G} AT T ® [Option ID = 1402]

5) fFrafaf@a e & g<u & g2 e uyl @1 defda IRl # ¥ 9g 3w & Riffa Fifve

IRT TOR A TH & a0 3Fd ST A 75T 311 81 50 NS g8 R § 3w 7 ot aw, st exedt iR snmpr=r g% e
faare 33 ¥ AfP o9 59 98T UgTa €, ) 9% AWRT ST fRuear 9e oraT 81 R 39 A9R 31 H1E $iR-BR g 98 Rwrd
a1 21381 30 @R guRT Sita oft 31 Righ 3t 7 9 fFa- Iuamg & i gt ®, afea #15 oft Iumn gof 98 arht 18, waife
foigiht & g uer € fp ®1F ot Iuw 39 W I avE fbe 18 Qo< | 591 =0T oftast & vep et fpare wra @, ik ag ot
T A 76 Jaft Sial & Jum w0 F o 3159 21 98 9red A f5 S srR Wil A siwT el it gy e v iR w189
T AR | 9fe O VAT HIT 8, df 98 9gd g971 U 71 gUR R Wi ©u § teh-gay 9 A9 78 @i §, afe gaer
UqAd Ig Tl gial fh gU gkl Bt TP o4 & §P A dfad B & 198 AT RIHM, I8 UPHid R 98 T Y-HSd g avard
gt 9a1 381 ? fF a1l A Aw At aw, Tt 3t gu = A ieq fyam &1 59 81 o we S @@ emauE & R ol
o folt 53 & o9, I A9 &1 SiftreY 2, 33t e | AFe-u &1 Wy ft 11 Tt % a7 R ofR & wry gl |
ISP o BT P 7 B | T8 ARTAM gH ORI T8 A YT A GepRI fardar g, 3 &g 9 g4 ot aeg-arfa 3 il v s @
GeBRT RATHR 3% o1 & 1T [T 3w 37 1R | GORT & i & §F DI S A TT HURTY T ITY $B -Tg1 g1 AbeT |

TV 9gd 98T 3UT $I IR e €, Ul
[Question ID = 349]

1. Tt &1 o7 &7 SHfYHR 8T & [Option ID = 1395]
2. foeft Y fea 18T &d [Option ID = 1394]

3. fFf A ge ad § [Option ID = 1393]

4. forsit 9 gRAT TG § [Option ID = 1396]

Correct Answer :-



o T3l &I SfIF &7 3MiUPR el ¢d [Option ID = 1395]

Topic:- BED_SEMR_T5

1) FufafEa Tei & g & [ e usl ¥ Iefaa 3w A A I8 W 3 Rt i)

TP AP difte THTS TaadT SfRTa] BT THE, STEl 8% iR (U= Tqa T TWdl @ | AR 98 fhalt 37 &t Taczrar o
iferepHor TE BT | TABY 3T € THH AT & R TGt TRAT BT TR FeT @ | 39 MR § Wft &7 g & ufa
WH-UTG XA gar 8 | T U9-UTq fored fpeft g &) 19, a=q ok o 9 disT uga™ &1 oI5 wiE =181 giar | &1 3o 3t
AR e ardig fxal &1 98 Y Rrard @ 2 Jumear 1o ok Wit & &g, 1R ok @1 & &, sret-sre ut Bt 7
aral & S, R #) 91 5197 e & orawiT $37 a1d Fd 8 | FHe A Jud ot g €, faus off, ot off siik el oft |
Wrga I 3k Ao ot g € | 3ifRiE 39 Ted i Tarar &1 sraeR Ram 2 e ot Rram-coawar § € #) o gt
g | Rrem 3 gg i erdem 91 Sl @ o IHTe A et #Y HTaAT 3 foRifed R 9a # U@ BT Y1 eT Y iR T HEdg
frzal @) Ty Yty daR oY forad TuH T 3R et & Sraas ur 9 |

‘IR a8 forell e &t Tads T &1 SifashAur A8Y ear |7 are | sifapAor 9 w1 A arud @
[Question ID = 354]

1. 3fEBHR 78 AT [Option ID = 1413]
2. 3TN Tg] H=AT [Option ID = 1415]
3. 3{dgH -Tg! BT [Option ID = 1416]
4. GEIQY el BT [Option ID = 1414]

Correct Answer :-
. B}Hﬁqﬂ’gfm [Option ID = 1414]

2) Fufafaa T & aed & 7 e vai & defcia I § 9 udl I 31 fafkd S|

TS AbdaiiAe JHTS WoddT AfRTal BT GUE, STl 82 AfRT - Teis T IWdT 8 | IR a8 fordt o it wadzrar &
SfHHYT AE AT | D! U E TU HIHAT @ 3R JTH! TRAT T 3MTeR FRaT @ | 39 e § 9t o7 tp-gar & ufa
N9-YTa T graT @ | AT H9-HTa s {5 g @1 74, a2 3R o4 A fe1 ugam &1 91 = 7181 gian | 1 3 B
TR e wrdty el &1 g yra Rard) 3 2 JuEar g9 3R Wit & diw, 1R 3R F1at & i, SreT-3ren gl 7
qrel & dH, R $ 91 o7 R8T &) gawAT 3 arel A & | A | FuF o g1 &, faus ), o= of ek frde of |
RTa 9 iR s S it 814 & | sifere 39 ao S gurar &1 sqagR Ra™ Y srde o Rran-suawr § g &1 & gadt
g | e A gg Nt 3den &Y Sl & 7 WS A 3renia @Y Hia o1 foRifed #P 9 H 3U=ed BT UG UeT Y 3R TH A=dg
frzal &t ot Yfty TaR H oRTd guH U oA e & SaaR ur 9 |

U qTeg @
[Question ID = 356]

1. TH [Option ID = 1423]
2. dqHd [Option ID = 1424]
3. XS [Option ID = 1421]
4. 3Nd [Option ID = 1422]

Correct Answer :-
o dcdH [Option ID = 1423]

3) Frafifad Tain & gy # 1@ T Ukl & Jefed IR # @ 96 SW @1 RfRd it

TP ABaiAD JUTS WaaddT AfRIal BT GYE, STl 82 AfRT U Tqeia T IWdT ¢ | IR a8 fodt o it wadorar &
SHTIHHT TEY BT | WID! 3 & FH AT @ SR TP TRAT BT 3TeR AT ¢ | 39 MM & 997 &1 vp-gav F ufa
V- U1 e 8T @ | T01 9u-uTa Roraw fpaft gk &1 79, gaq 3R o @ HisT ugum &1 #1$ Wi T8 g1 | T 3 Ft
AR} Rrem Ay Rzl &1 g Wi fyardt @ ? THEar 1B SR Wit & §f, R 3R S & o, SreT-3rerT Y Y 7
el & drg, Ram &Y 91 937 RIe $) TawT 39 a1 FIa & | 9 § GuF o 29§, fuw o, oeh oft o e oft |
Ny arat 3R s i 21 ¥ | 3oifRe =9 g It aaar &1 saeR Ram 3 e +f Rran-saaw A & &1 & godt
g | e A gg it 3den Y Sl 8 6 oS A Sreria Y yraT o1 foRifed P 9 A 3u=Ted BT UG UeT B 3R TH A
frzal @) e Yfiy daR H¥ Forad gaH TU ¥ 3 fIeTd & Sraas ur I |



ITRE § FRiRe s FTWE 2
[Question ID = 357]

1. qUUT AT [Option ID = 1428]

2. RIS HRAT [Option ID = 1427]
3. TN HAT [Option ID = 1426]

4, &1 &A1 [Option ID = 1425]

Correct Answer :-
o NI hHAT [Option ID = 1426]

4) Frafafed mern & 5y § 7@ 7T udl & Isfcra SwRi F 9 9g) S| @1 fafta S|

TP A dife FHTS TaadT SAfRTa] BT WHE, STEl 8% iR (U1 Tqa T TWdl @ | AR 98 fhalt 37 &t Tacarar o
ifrepHor & BT | TBY 3T € THH WA & 3R TGB! TRAT BT TR FT § | 39 MR & Wft &7 g & ufa
WH-UTG XA gar 8 | T U9-uTq fored fpeft g &) 19, 9= ok o @ dieT uga™ &1 oI5 wiE =181 ga1 | &1 3o 3t
ARt e ardig fixal &1 98 YT Rrard @ 2 Juear 1o ok Wit & &g, 1R ok @1 & &, sreT-sre ut Bt 7
aral & S, ™ #) 91 5197 e & orawiT $37 a1d Fd & | U A Jud ot gia €, faus off, ot off sk fAe oft |
Mrga It 3k s ot g € | 3ifRiE 37 9ed i Tarar o1 sraeR Ram 2 e ot Rran-coawar & € #Y o gt
g | Rrem 3 g i erem 991 Sl @ fop IHTe A et Y HTaAT $Y foRifgd B 9a H 3iued BT Y1 UeT Y ofR T HEdg
frzal @) e Yy daR oY Forad gaH T ¥ 3R et & Sraas ur a4 |

IATEIE b YR W FgT o 9l 3 fb Rt ware &
[Question ID = 355]

1. fafaerar § [Option ID = 1420]

2. FHTT 8 [Option ID = 1419]

3. QrAISTRT § [Option ID = 1418]
4. THBUAT § [Option ID = 1417]

Correct Answer :-
« A § [Option ID = 1419]

5) fafafaa T & < # 1@ T vl F defRE Iwi A A w9 IWw B =R Fifs)

TS AbdaiiAd U WoddT AfRial BT GUE, STl 82 AfRT U Teis T IWdT 8 | IR a8 fordt o it wadzrar &
fershHOT TEY HIAT | DY U 1 T AT 8 3R TGB! TRAT BT SR 6T 8 | 79 31eR § Fult 71 vb-go & ufa
A9-YTa T BT @ | QT H9-HTa s {5 g @1 74, a2 3R o4 A fe1 ugam &1 S - 7181 gian | 1 3 B
TR e wrdiy el &1 g yra Rard) 3 2 JuEar g9 3R Wit & diw, 1R 3R F1at & i, SreT-3rent gl $t 7
el & o, R B 91 o) RIeT $1 a1 39 ad Fd & | 9 § I o g €, A off, ee oft ofik fre oft |
eRd are R s W 819 € | Sfifere s 9ao 19 I9dar &1 uagR Ram 1 srdem +f Rien-caawr 4 € 3t o ot
g | e A gg Wit 3den &Y Sl & 7 oS A 3reng @Y Hia o1 foRifed #P 9 H 3@ BT UG UeT Y 3R TH A-dg
frzal &t a1 Yfty TaR F oRad guHE U R oA e & SaaR ur 9 |

U U TaddT & ATY-ATY
[Question ID = 358]

1. 39T TRHT BT Yt &9 a1 I1fee [Option ID = 1432]

2. 9yt ! grdr Redl &1 9% R 91fgT [Option ID = 1430]
3. R &I WA BT T HRAT IMgY [Option ID = 1431]

4. GIRI D1 A& BT HIRIT BT AMGY  [Option ID = 1429]

Correct Answer :-
o QR I WA BT A AT AT [Option ID = 1431]



